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MAJOR STARS 1 – SEMESTER 2 FINAL TEST – ANSWER KEY 

1. Circle the word. (0.5/ each)  

a. eye (b)     b. lion (c) c. ear (a)      d. bedroom (c) e. milk (a)    f. sad (c)          

 

2. Tick the correct answer. (0.5/ each)  

     
   

She is happy. 
 
She isn’t happy. 

 
 
 

 

    
 

I don’t have 
eggs. 
 
I have eggs. 

 
 
 
 

      

     
   

They aren’t 
giraffes. 
 
They are giraffes. 

 
 
 
 

 

 
 

It is a mouth. 
 
It isn’t a mouth. 

 
 
 

 

3. Underline the word. (0.5/ each)  

     a          These are / is my eyes. I can see many things. 

     b          I am / can sleep in my bedroom. 

     c          I have an orange and / of an egg for breakfast. 

     d          They is / are giraffes. Giraffes are tall. 

  

a c 

b d 
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4. Match with the correct initial sound. (0.5/ each)  

     a 

                

 

 

 

     b 

                

 

 

 

     c 

            

  

 

     d 

        

 

 

 

     e 

          

 

 

 

     f 

       

  

 

 

g 

m 

j 

f 

k 

e 


